THE BIG CHALLENGE 2015 
LEVEL 1

1. ............ am at school.1
A. He
B. I
C. She
D. They
The correct answer is B.
I am at school.

2. Complete the word: E N G L _ S H.
A. A
B. E
C. I
D. O
The correct answer is C.
E N G L I S H

3. Kate ........... a pretty girl.
A. am
B. is
C. are 
D. at
The correct answer is B.
Kate is a pretty girl.

4. Three + .......... = eleven.
A. nine
B. eight
C. seven
D. twelve
The correct answer is B.
Three + eight = eleven.

5. “.......... are you?” “I’m fine, thanks.”
A. Who
B. You
C. How
D. Well
The correct answer is C.
“How are you?” “I’m fine, thanks.”

6. A tiger is ........... dangerous animal.
A. it
B. an
C. big
D. a
The correct answer is D.
A tiger is a dangerous animal.
7. “How .......... is Mark?” “He’s 12.”
A. are
B. old
C. time
D. who
The correct answer is B.
How old is Mark?

8. It’s 9:30 = It’s ................... .
A. half past nine
B. quarter to nine
C. nine o’clock
D. thirty-nine
The correct answer is A.
It’s half past nine.

9. Complete the “family” of words: table, bed, chair, ............. .
A. jam
B. desk
C. dog
D. leg
The correct answer is B.
Table, bed, chair, desk.

10. The capital of the United Kingdom is ................ .
A. New York
B. Edinburgh
C. London
D. Dublin
The correct answer is C.
The capital of the United Kingdom is London.

11. My grandparents ............. two black cats.
A. have got
B. are
C. has
D. has got
The correct answer is A.
My grandparents have got two black cats.

12. Now children, ............ the questions on page 10, please.
A. stand
B. come
C. answer
D. sit
The correct answer is C.
Now children, answer the questions on page 10, please.



13. Prince Harry and Prince William are .............. .
A. father and son
B. brothers
C. sisters
D. grandparents
The correct answer is B.
Prince Harry and Prince William are brothers.

14. The internet = the .............
A. computer
B. screen
C. site
D. web
The correct answer is D.
The internet = the web.

15. “I .............. cold.” “Well, put on your sweater.”
A. have
B. am
C. have not
D. like
The correct answer is B.
“I am cold”. “Well, put on your sweater.”

16. ............. have a new bike for my birthday please, Dad?
A. Are you
B. Is it
C. Am I
D. Can I
The correct answer is D.
Can I have a new bike for my birthday please, Dad?

17. ............. are three books on the desk.
A. They
B. There
C. This
D. Where
The correct answer is B.
There are three books on the desk.

18. A woman says to you, “Can I take your order?” Where are you?
A. At the hospital.
B. In a classroom.
C. In a clothes shop.
D. In a restaurant.
The correct answer is D.
You’re in a restaurant.



Read this text to answer questions 19 to 23.

Mr Wilkins works in a bank and his wife is a shop assistant. They live in a big house in the country and they’ve got two children, Katie and Mark. The children usually walk to school because it is only half a mile from their home. But, if the weather’s bad, Mrs Wilkins drives them to school.

19. Where does Mrs Wilkins work?
A. In an office.
B. In a shop.
C. In a bank.
D. At a school.
The correct answer is B.
Mrs Wilkins works in a shop.

20. Mr and Mrs Wilkins live ................. .
A. in a town
[bookmark: _GoBack]B. in a city
C. in the country
D. in a flat
The correct answer is C.
Mr and Mrs Wilkins live in the country.

21. Mark is Katie’s .................. .
A. brother
B. son
C. mother
D. daughter
The correct answer is A.
Mark is Katie’s brother.

22. The children walk to school because ................... .
A. they take the bus
B. it isn’t far
C. it’s a long way
D. they can’t walk
The correct answer is B.
The children walk because it isn’t far.

23. When the weather’s bad, the children ................... .
A. walk to school
B. don’t go to school
C. take the bus to school
D. go to school by car
The correct answer is D.
When the weather’s bad, the children go to school by car.





24. Find the word that is not associated with Halloween.
A. witch
B. ghost
C. vampire
D. coat
The correct answer is D.
Coat

25. The Prime Minister and ............... wife are in India today.
A. his
B. her
C. their
D. she
The correct answer is A.
The Prime Minister and his wife are in India today.

26. In London, you can travel by public transport: by bus or by .......... .
A. Underground
B. BBC
C. Metro
D. London Eye
The correct answer is A.
In London, you can travel by public transport: by bus or by Underground.

27. Your friend is very sad but you don’t know why. What can you say?
A. You aren’t very sad.
B. What’s the matter?
C. Why are you happy?
D. Can you help me?
The correct answer is B.
What’s the matter?

28. My brother is a musician. He ............ the guitar in a rock band.
A. play
B. writes
C. plays
D. works
The correct answer is C.
My brother is musician. He plays the guitar in a rock band.

29. You give 50p to a poor man in the street. He says, “Thank you very much.” What can you say?
A. Well done.
B. You’re welcome.
C. Hurry up.
D. That’s right.
The correct answer is B.
“Thank you very much.”  “You’re welcome.”



30. “Awful” is the opposite of  “................”.
A. wonderful
B. fat
C. ugly
D. light
The correct answer is A.
“Awful” is the opposite of “wonderful”.

31. Between the ages of 11 and 17, English children go to ............. .
A. college
B. elementary school
C. university 
D. secondary school
The correct answer is D.
Between the ages of 11 and 17, English children go to secondary school.

32. I ............ like maths very much. It’s boring.
A. don’t
B. often
C. do
D. haven’t
The correct answer is A.
I don’t like maths very much. It’s boring.

33. “........... always have bacon and eggs for breakfast?” “No, only on Sundays.”
A. When do
B. Do you
C. Are you
D. Don’t
The correct answer is B.
“Do you always have bacon and eggs for breakfast?”

34. “One” rhymes with “...............”.
A. soon
B. fun
C. brown
D. on
The correct answer is B.
“One” rhymes with “fun”.

35. Find the word that isn’t associated with these words: arm, foot, knee.
A. head
B. hand
C. sock
D. nose
The correct answer is C.
Sock



36. There aren’t ............. in the shop.
A. orange juice
B. any people
C. some fruit and vegetables
D. a bottle
The correct answer is B.
There aren’t any people in the shop.

37. The ............. is the name of a river. It goes through London.
A. Oxford
B. Channel
C. Piccadilly
D. Thames
The correct answer is D.
The Thames is the name of a river. It goes through London.

38. “Hello” doesn’t rhyme with “..................”.
A. low
B. know
C. cow
D. go
The correct answer is C.
“Hello” doesn’t rhyme with “cow”.

39. Mike speaks very fast and you don’t understand him. What can you say?
A. Sorry? Can you repeat, please?
B. Can you understand?
C. Please excuse me.
D. What’s this?
The correct answer is A.
Sorry? Can you repeat, please?

40. Wait a minute! Don’t forget your umbrella! It .............. .
A. rains
B. rain
C. ’s raining
D. doesn’t rain
The correct answer is C.
Don’t forget your umbrella! It’s raining!

41. I usually .............. jeans and a T-shirt at weekends.
A. wear
B. carry
C. wait for
D. print
The correct answer is A.
I usually wear jeans and a T-shirt at weekends.



42. Your friend is watching TV but you don’t know the name of the programme. What can you ask?
A. Are you on TV?
B. What’s on?
C. Who’s watching TV?
D. Is the TV on?
The correct answer is B.
 “What’s on?”

43. The letter “j” rhymes with .............. .
A. today
B. age
C. free
D. cheese
The correct answer is A.
The letter “j” rhymes with today.

44. How ............ of tea do you drink every day?
A. much
B. many cups
C. lots of cups
D. much time
The correct answer is B.
How many cups of tea do you drink every day?

45. It’s usually red and it’s often at the corner of a street. It doesn’t move. What is it?
A. An English phone box.
B. A London bus.
C. A London taxi.
D. Traffic lights.
The correct answer is A.
An English phone box.

46. There’s .............. at home. I think they’re all at the cinema.
A. everyone
B. no one
C. everything
D. nothing
The correct answer is B.
There’s no one at home. I think they’re all at the cinema.

47. Pronunciation “October” = o O o ; “calculator” = ..............
A. O o o o
B. o O o o
C. o o O o
D. o o o O
The correct answer is A.
“calculator” = O o o o 



48. “I can hear a phone! ...... phone’s ringing?” “Sorry, Miss, it’s mine.”
A. Who’s
B. Whose
C. Is there a
D. Who has a
The correct answer is B.
“I can hear a phone! Whose phone’s ringing?” “Sorry, Miss, it’s mine.”

49. A little boy wants to ride his new bike in the street for the first time. His mother is worried. What can she say?
A. Have a nice party.
B. Don’t make a mess.
C. Don’t worry.
D. Be careful.
The correct answer is D.
Be careful!

50. My brother ............... to New York tomorrow.
A. is visiting
B. going
C. is flying
D. travel
The correct answer is C.
My brother is flying to New York tomorrow.

51. Mr Pond’s phone rings. A voice says, “Is that Mr Pond?” What can Mr Pond say?
A. Answering.
B. Replying.
C. Speaking.
D. Talking.
The correct answer is C.
 “Speaking.”

52. Mr and Mrs Smith are in their car. Mr Smith is driving very fast. He doesn’t see a woman who is crossing the street. Mrs Smith shouts, “Look ............ !”
A. at
B. out
C. for
D. up
The correct answer is B.
Mrs Smith shouts, “Look out!”

53. “What time does your plane ............... ?” “At 4 pm.”
A. get up
B. keep away
C. make up
D. take off
The correct answer is D.
“What time does your plane take off?” “At 4 pm.”

54. At Christmas in England, it is traditional to sing Christmas ........ .
A. gifts
B. chants
C. carols
D. stories
The correct answer is C.
At Christmas in England, it is traditional to sing Christmas carols.

